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25.

26.

27,

A certain water-supply system consists
of a source, threce pumping stations,
and a destination. Each pumping
station has probability p (0 < p < ) of
being operable at a specified time t,
and the stations function independently
of one another. The stations are
connected as shown below ;

-

The probability that water ts available
to the destination at time t, 13

—>—0 Destination

Source © n

(o 2p

2 P2 p
3) p

@ p

Suppose P, Q arc two like paralle!
forces. A couple of moment G is
combined with them. Then resultant is
displaced through a distance

() O
2G
(2) l)_| Q
G
G
+H P_—5

If m is the slope of a tangent to the
2y 2
curve e~ = 1 { 4x” then

(1 im(=1
2y m[>1
{3y ml>1
(4 Imf<l

25.

26.

27.

T I Pl AEE (water-supply
system) ¥ T @id, H19 79 T 79T UF
T T™E & | IS T T qEa
TR TEA & WAFA p (0 < p < 1)} & A
1 T @Y WE €9 7 B ™A ¢
TR AT g€

[

() 2p°

(2) p2 P
3) p

4y p

A P Q 31 FEET GHAT A § ) G AT
[ UF qR-JH 3T A Ty | A aemm

Tt o gi W ST o T, 98 R
() 0
2G
) G
(J) P+Q
G
4 p -0
R Ew e 1 f Ay WY A E T
me,
(1} |jmj<1
(2) imj>1
(3 Im[>1
{4y Imj<lI

W
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18.

29,

30.

If x =1 +a-+a+ .. (Ja <) and
y - 1+b+b" 1 .. (bl<1l), then the

sum of the scries | +ab + a’b® « ... is
equal to
1y —I—
y-y—1

2) —I—
o x—-y+1
) _\'Z
) xty+l
@) —2—

foxry—|

The set of valucs of o for which the
quadratic equation
(a+2).\’2 S2ax-a =0

has two roots on the number line
syminetrically placed about the point 1
15

(-1, 0
() 10,2}
(3) ¢

(4) 0.1}

A parallelogram is cut by two sets of n
parallel lines, parallel to the sides of
the parallelogram. The number of
parallelograms so formed is

() ("7C) % ("7Cy)
(2) (") x ("G
(3) ("G x("7C)
(@) ("Ca) % ("Ca)

28.

29.

30.

g x =1 +a+a’d .. (jaj<i)een

y=1+b+b>+ . (bl<).et#
Bgr | + ub + a’ht ~ . F AW avrEL w

M Ty
@
G T
@ T
o % =% A f femm wefie

2
(1T Dx —2ox u=90

& ST gW, N TE W g | F 9nmEa
e, @

(y -1.04
) 0.2}
3) ¢

{4y {0, 1}

T TER TS &l n HERA SETE & 37
T A A e AT SRR S &
TAA F TAFR € 1§60 TFEX T e

(1 (P x (")
) ("Ca)x("'C)
(3) ("Cax("Cn
(@) ("C2) % ("Cy)

Space For Rough Work / T6 &1 % folg e

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers

{11Y



& eVidyarthi

FREE Education

31.

32.

33.

The equations of motion of a particle
are given by

\

G DL

where the particie is at (x(t), y(t)) at
time t. If the particle is at the ongin at
t =0, then

() 6x=(+ 1) (e - 1)
(2) 6x=(2e"- 1) (e + 1)
(3) bx=(c~1)(c+ 17
(4) 6x=Qe + 1) (e ~ 1Y

I
if fm L) ex1sts, then
x—c \glx)
i
(1) " f(x) must exist

X—C

_ lim lim
(2) neltherx#)cf(t) norx_)cg(t)

may exist
3 lim L
(3) N g(x) must exist
lim
(4) both __)cﬂx) and x--:\cg(x)
must exist

Let Ly be a line with direction ratios
(=2, -1, 2) and 1; be the line joining
the points (1, 2, 3) and (3, 2, 1). [f 0 is
the angle between the lines Ly and L,
then Isin O] equals

[ |
M 3 @ 3
3y b o
( 3\/5 ()2

31.

32.

33.

THT ¢ I FOT F T (x(t) 5 y(t)) 9T H
aﬁ“ni%ramﬁ‘]awwwm%

=t g clt tJ}l :
aﬁt=0wwaaﬁ:§w%ﬂa
(1) 6x=(e'+1)(e 1)
2y 6x=Qe'-N( 11y
(3) bx=(e"—-1)(e + 1)

4) 6x=0Q+ (e 1Y

iz L(—Jaﬁraﬁaa%m

x—c \g(x)
(1) _L]m Jx) T ST SEEE T |
) :rmi“ . S = 'fﬂ"
aﬁﬁr—d%l

3) _i‘ﬂc o(x) F1 T FTEVEFE |

s 8L

lim - lim
X—»¢C fx) x—

k2 Bl

) o 20

AET @ L, % fqem o e (-2, -1, 2) #
aor faga 1, 2, Hyaw (3, 2, 1) F
e amett 3@ L, & 1 afy et Ly o
L, 3 it 1 o O &1 ¥ jsin O] F1 A7 &

1 [
(3 2 3

1 1
® 75 @ 3
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34,

35.

36,

If 2 and b arc two non-parallel vectors
having equal magnitude, then the

vector (2 — b) x (@ x b) is parallel to

() b
(2) a-b
(3) a+b
(4) a

The numbers a, b, ¢ are distinct and
*
non-negative. 1f the three vectors ai +
- — — —- — > —

aj+ck,ci +cj +bkand i + k are
coplanar, then ¢ is

(1) pgeometric mean of a, b

(2) harmonic mean of a, b

(3) equal to zero

(4) anthmetic mean ofa, b

There are 30 boys and 20 girls in a
class. The mcan and variance of their
marks in Maths are, respectively, 65
and 100. If 5 grace marks are added to
the score of each student, then the
revised mean and variance will be,
respectively

(1) 70, 100
(2) 70, vanance > 100
(3) 65, variance < 100
4y 65,100

34,

35.

36.

i T T4 b S AR T4 THH qiAror
aret afewr (39eX) w ° 99 (@ - b) x

(3 xb) TR E

(1 b
(2) a-b
(3) a+b
4)

a1 faf= d=10 a, b, ¢ TS TR E
iy 9 giew (dF3) aiq - a3)+ cf,c_i) +
ci +bkam | + k wueetr g at ¢ &
(1)  a, b 1 TUiET T

(2)  a, b = EE A

3y TA
(4) a, b FIRR WA

TH T H 30 F5H a° 20 ASHA §
37 TioTe foma o aieht T ATeF agy wEROT
SO 65 A4 100 § | AE wAw famet &
3l o 5 Sitg R = At afvafa e e
TEIOT FHH: B

(1) 70, 100

(2) 70, W > 100

(3) 65, WEROT < 100

(4) 65,100
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37.

38.

39.

40.

A bullet fired at a target loses half of
its velocity after penctrating 6 cm into
it. How much further will it penetraic
before its velocity is destroyed ?

(1) 3cm

(2) 2cm
(3) lcm
(4) % cnl

If the ratio of the 7" term from the
beginning to the 7™ term from the end

. 3 | 1 n
in the expansion of (2 f43 B) 18

1
5 then the value of n is

(ty 9
2 12
(3) 6
@) 3

If three distinct positive numbers a, b,
¢ are in A.P. such that abc = 4, then the
value of b ts always

(1)  greater than (2)3"3
{2) less than (2)2"3
(3)  equal to (2)7
(4) equalto {2)3,2

If there are 30 onto mappings from a
sct containing n elements o the set
{0, 1}, then n equals

(1 3
(2} 3
3y 7
4 2

37.

38.

35.

40.

U S5 B WAl T ong H 6 4. 99
Y T YT D WA E | DA F gget
=8 ferert R &9 SR 2

(1) 33
(2) 29
(3) 194
(4) % Q..

af (25 + 30)" & foremr 5 e @ Wed

. 1.

tﬁmﬁmwﬁwmwaﬁwg [
nFEAAE

1y 9
(2) 12
3) 6
(4) 3

e o Gt e9es @ a;, b, ¢
TR 4A T U 2 fF abe = 4 A b
H A woa

M) @ daes |
2;3 .

2) @ asE|

(3) @PF@Ed

) @ FEEE

g n gl 9t Th 99 ¥ 9
{0, 1} W 30 HArSRH yfaf==ror (onto

mappings) A n FMAF ¥
(1) 3
2) 5
3 7
4y 2
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PART-II / 9I- Il
APTITUDE TEST / s qetaroy

Directions (for Q. 41 to 43) : 3-D problem
figurc shows the view of an object. Identify
the correct front view as indicated by arrow.

4]. Problem Figure

<

Answer Figures

() (2) (3) (4)

42. Problem Figure

i

Answer Figures

VL

=]
-

(h (2) (3) (4)

fRw : (0. 41 9 43 F @) : 3.D v ITHE A
TF o] i fara mn & | AR ot faen | 7 g
TH 3 T T9 i Ge |

41, WY IR

Liﬁ__:f
}

(1 (2) €} (4)

42, WY A

-,

A

Il
!

(1) (2) (3) (4)
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43. Problem Figure 43. T HFA
ol ol
Answer Figures IO i _
H (2) (1 (2)
= mills 1 [ ]
(3) (4) (3 4
Directions (for Q. 44 to 46) : 3-D problem B (@ 44 9 46 % To1w) : 3-D Wy evfa A

figurc shows the view of an object. Identify

the cormrect top view from amongst the U o FT W T & T /el TR G99

answer {igures. I HFHEF J | e |
44. Probiem Igure 4. v IR
Answer Figures ¢ aFias
o @) (1) @)
(3) (4) (3) 4)
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Problem Figure 45. W HARH
Answer Figures EREEIERnE
(1) ) (1) 2)
3) (4) 3) )
46. Problem Figure 46, WY TF
Answer Figures IWR INFHHAAT
- I ] —ICI
(1) (2) (1 (2)
(3) (4) (3) (4)
Spac Work / T %/ & & sme
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Directions (for Q. 47 to 49) : Which one of Mo 0 W 47 % 49 & fom @ 3-D WS
the answer figures, shows the correct view, FHipid W GieH R, I FHaal T € T gva
of the 3-D problem figure, after it is opened FTEEY _
up ?
47, Problem Figure 47.

>

4>

Answer Figures
A /2\
< B G B
Y, v/
(1 (2)

A
|
LY

Bl [

(3) (4)
48. Problcm Figure 48.
Answer Figures
- -
- 7
H g = -
|| ||
(1) (2) (N (2)
— ]
(11
Tt 7 7
[ | [~
3) @) 3 “

Space For Rough Work / T& $4 % g s
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49. Problem Figure 49. W FFF
Answer Figures FA It

e
I_[EJSIII
|
Ii]mill
il

(1) 2) (1) 2)
] ] i i
- []—] [ i ]
= - s
(3) 4 3) (4)
Directions (for Q. 50 to 52) : Find out the )
total number of surfaces of the object given e s (. 50 | 52 % ey : oy arpfa |
below in the problem figures. F=iferd awg = TRt =t ol & T BT |
50. Problem Figure 50. WeT AF
(1) 10 O 10
2y 12
@ @) 12
3) 14
(3) 14
4) 3
(4) 8

Space For Rough Work / % & & T 7%
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51. 51.
(1y 17 (1 17
2y 18 (2) 18
3) 19 3y 19
4y 16 4) 16

52. 52.
(H 12 (1) 12
2y 11 2) 11
(3y 13 3y 13
4 10 4y 10

Directions (for Q. 53) : Identify the correct frder: . 53 % e 31@%’&“? T A 39
3-D figure, from the answer figures, which i B—D(q 3 ?h}%?‘ o E;?E[, -

has the front view, as given in the problem

figure on the left. T TS W9 ST AT & |
53. Problem Figure 53. W 3T
Answer Figures T SFFeA

bedo| Poeg

Space For Rough Work / 1% &1 & feld s/
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Directions (for Q. 54 to 55) : Identify the
correct 3-D figure, from the answer figures,
which has the same top view, as given in the
problem figurc on the left.

54. Problem Figure

e/

Answer Figurcs
S S 5 1]
60 6 b
N S
(hH (2} 3 (4)
55. Problem Figure

Answer Figures

R

(1 @ (3) (4)

56. Which one of the following will reflect
more radiant heat ?

(1)  Whitc marble
(2) Red sandstone
{3) Cement plastered surface

(4) Black marble

a9 0 (. 54 9 55 % foT0) : 5% I 5 7,
I el 3-D 3T Ht Bifey, Fas 39t g,
a1 SIS T e el S |

54.

55.

56.

T S

)

I Al

SRR L
(3) 4

(M (2)

¥ AT

I ATFATA]
(1) (2) (3) (%)

34 9 i A1 aifes fafeor s wiafafaa
H 9

(1) Hhg WAL

(2) Tl ST 9eR

(3) iR TR WaR

(4) A ST

Space For Rough Work / 76 %18 % {6t &
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57.

6.

61.

Cement is made out of
(1) Limestone

{2) Sandstone

(3) Granite

{(4) Marble

Which of the following gives smoother
surface when polished ?

(1) Granite
(2) Brick

(3) Concrete
(4) Sandstone

Which of the following is not a sound
absorbing material 7

(1}  Thermocole
(2) Ground Glass
(3y Glass Wool
(4y  Jute Matt

(Ozone layer around the carth prevents
penetration of

(I} Ultra-violet rays
(2)  Sound waves
(3) Excesstve heat
{4) Infrared rays

A white coloured building interior
looks larger because

{1) itreflects more light
{2) 1tisacool colour
(3) 1tisa warm colour
(4) it absorbs more light

57.

58.

59.

60.

61.

Hoe fhad s & 7
(1) TR |
(2) FRATERE
(3) W
(4y TR

Giferer 3 W I 91 4] faedr ddg 2
&9

(1) W=

(2} =2

(3) b

(4) =TT T (Hs =)

ST T W A SR 9w T € 0
(1) eHIe

(2) faarsmE

(3) = H I

(4 e

qest & TR AR A B uel Thas wow
FAY el & 7

(1) AT THOTT =l

(2) 0w

(3)  2rcgtaes Tt

(4)  HELER (BT T

TN 1 Fhg TN Al 9rT Sg=1 F2r
(1) = SR Ty Rt H e

(2) WUFIJIE |

(3) TUHTHITE |

(4) =€ 1A GO |

Space For Rough Work / TF &t % fet 718
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62. Sanitary [ixtures are 62. WA (ST 3F €
(1) Man and smooth Ay HE I A
(2} Glossy and rough (7)) EEEET 3 E
(3)  Matt and rough (1) ¥ T
(4)  Glossy and snwoth (4 T P

63.  Which of the following are secondary 63. TETIFAY AT AN I8
colours ?

| (1) AT, A AW 2
i1y Purple, blue and green

A Pon e ad B
(2}  Orange. purple and green (¢ S ACEn

(3)  Green. orange and yellow (3) R, AR A 9
{-h)  Orange. blue and green () L ST TR B
64. Three true prunary  colours  when 64, A E ygFE I i e | RS ar
mixed together are closest o TG T T AT &
{1y White (1) FEE I
2y Niole 12y HIETIM
3 o
(3 Blue 3 S
(41 Black .
{4y AT
65.  Which one of the tollowing colours is 65, THA H WEH UaHT TTRFA |12 )
the most tranquifizing " )
(1) AT
(1y  Blue
(2y I
(2) Red '
3y Yellow () T
(4} Black (41 FTT

Space For Rough Work / T %/ % feu -7

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



& eVidyarthi

FREE Education
Directions (for Q. 66 to 67) : Which one of s @ ec w67 Ffou):smar  1d¥
the answer figures ig the cormrect mirror FH G SPIT SF TE WY AMHIA Hr A YT
image of the given problem figure ? yEfET e
66. Problem Figurc 66. TV I
Answer Figures S AHiaar
22 EQ\L E”ﬁ Eﬁ\g
R noooo @
67. Problem Figurc 67. W WA
_+d CJ_ _+ﬁ O
M| NE:
Answer Figures - e
A0} K| | 4K 0 1 Ao [x[+1[a]*][o]+]
ol (NI s KSR | £ U x|+ INTo [+ o] [
RS oo e @
Direections (for Q. 68 to 70} : Find the odd . = Lo
igure out ;&T?;(w. 68 ¥ 70 & fiq ) ; e el =it
TR | R
{0 (2) Gy ) (1) (2) 3y &)

6Y.

A I I ] 3 [

(1 2) (3) S () (2) (3) )

Space For Rough Work / T W
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70. > s 70. =]
ey m =
- N —

(1) 2) ) 4 8y, (2) (3) (4)
Directions (for Q. 71 to 74) : Which one of @ 7184 e TR ersfaai T 9
the answer figures will complete the DI T RIS WY SR SR W R
sequence of the problem tigurcs ? T 9
71. Problem Figures 71, Wes aFTEr

C_J|L1] (I
C_ (L IO
A B C D A B C D
Answer Figures I 311§‘|%r5ﬁ
0] ]
Lt ] E

O VS N L ) n 2 3 W
72. Problem Figures 72, YT AHCET

A B C D A B C D

Answer Figures IT 2 f
@ & @ @2 6 ®

Space For Rough Work / ™ &Rl & g 57
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73. Problem Figures
o x A o

x AlA O|0 X|X A
A B C D

Answer Figures

A X X o)

o x|0o ala O|X A

L @& @ @
74.  Problem Figures
9 ® 40 o 5 }e
o R e o [&] —
o a & A a F-T O
A B C D

Answer Figures

o o
[o] A | & o
0] o

() (2) (3) (4)

an
]
(©;
a

Yo o

Directions (for Q. 75) : Some geomctrical
shapes arc given, on the right, in answer
Ngurcs. When they arc assembled, which
onc of them, will form the figure given on
the lett 7

75. Prohlem Figure
[

—

Answer Figures

9 opl=
O
od MEQDDE

(h <y Gy &

73.  UFT MRES

A B C D)

h 2 3 B
74, WIT ATHiaAr
o @40 @ I O
@ X 8 Ve
o o4 a a 5 yo
A B ( (]
IR ATHAT
o . D A Y o] &
0 4 | A o] — O a
® o "Ye o

(1) (2) (3) (4)

Fwr: (w. 75 & foQ )« g =fudie amgpfaar
T AR ® T SUFHAEr 41 TE | SAH Sive
AT 2

75. W¥F AR
i

gﬂ Dmgﬂ Dﬂi

1d i gl =g

& 3y &)

Space For Rough Work / % %4 & {6t 7@
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Directions (for Q. 78 and 79) : How many

total number of trtangles are there in the

problem figure, given below ?

78. | Problem Figure 78. WY AT
(1} 30 (1) 30
2y 36 (2) 36
(3) 38 {3) 38
4) 28 4y 28

79. Problem Figure 79. ¥ AHIA
(I 7 (7
(2) 8 (2) 8
(3) 9 3 9
(4) o 4 6

Directions (for Q. 80) : How many total

Mo @ 78I i) dAgd ey
i = Bt =t o1 wem f § 2

TRw: @ 80 % ferw ) : T & T we svwfa

number of squares are there in the problem o = et weEn Bt § 0
figure, given below ?
80. Problem Figure 80. WA ATH

(1) 1i6 (1) 16

(2) 14 (2) 14

(3) 18 (3) 18

4) 20 4y 20

Space For Rough Work / T6 % &% Tt <718
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81.

82.

83.

85.

Maitri Mandir is situated in
(1)  Auroville

(2} Andhra Pradesh

(3) Kerala

{4) None of these

The famous Padmanabhapuram Palace
is located in the State of

(1) Tamil Nadu

(2) Andhra Pradesh
(3) Kamataka

(4) Kerala

Tansen lived during the timces of
{1} Sher Shah Suri

(2) Akbar

(3} Jahangir

{4) Shivaji

Which one ¢
architect ?

{1} Inder Gujral
irles Correa

1¢ following is not an

ant Raje

_ Corbusier

Henry Moorc was a
(1) Architect
(2) Archacologist
(3) Sculptor

{d) Astronomer

81.

82.

83.

85.

(1) smfE=Ay
(2) RTH
(3) FEH

(4) T H FE T
g JETT 95 9 g 7 fea
[

() #w g9

(2) IFUTEHH
(3) FERsH
(4) #AH

A fhass o a7 Y
(1) TR F

(2) HERF
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86.

87.

88.

89.

90.

In which of these countries can you
find the famous man-made
constructions of Buckingham Palace
and The Big Ben ?

(1)  United Kingdom

(2) China
(3) India
(4) Japan

The structure of Golden Gate Bridge is
(1) Floating

(2) Suspension

{3) Trussed

{(4) Column and Beam

Famous ‘Sun Temple’ 1s situated at
(1) Puri

(2) Konark

(3) Bhubaneshwar

(4) Kanpur

Victoria Memorial is a
(1) Museum

(2) Theatre

(3) Hospital

(4) Railway Station

The famous work of Leonardo da
Vinci is

(1) Elizabeth

(2) Mona Lisa

(3) The King

(4) Cleopatra
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